SECONDARY MATHII// MODULE 2
STRUCTURES OF EXPRESSIONS - 2.10

Lesson 9 I've Got a Fill-in

https://flic.kr/p/obhAfn

A Practice Understanding Task

CC BY One Point Services

For each problem below, you are given a piece of information that tells you a lot. Use what you

know about that information to fill in the rest.

1. [You get this: [Fill in this:
Factored form of the equation:
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2. |You get this: / Fill in this:

-\ Vertex form of the equation:
y = x? —% @ ‘6(0. (-q)c 3\2-
- (=t I¥3=| 1 37

3 (x -3 — o —
Vevrtex (3,0)
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Graph of the equati
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3. |You get this: Fill in this:
Vertex form of the equation:

4- L(x-2)*-3

Standard form of the equation:
% [ (x| -3
_ L(x’L Yy ) =3
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4. |You get this:

Fill in this:

Factored form of the equation:

\3; CL(X-I"I> (X ‘3)

oe-al = 0.5

a=-%
Y= -3 Cx+rDEX-3))
Standard TOTTTOT the equation:

/

5. |You get this:

Fill in this:

y =—x?>—6x+16
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= =1 (X%+Lx —1b)

Either form of the equation other than
standard form.

1 ORGe

Vertex of the parabola

(-3 ,2as)

- (_. X’L — Lo I'd -—-q ') "'l lﬂ f7x—intercepts and y-intercept
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6. |You get this: Fill in this:
Either form of the equation other than
20 y = 2x2 + 12x + 13 standard form.

Ooes ot Lockovr

Vertex of the parabola

(-3,-5)

é = (9. %2 12 x HE)+ 1318
- a( XT+oxHN—5

8 - a C)(-[—B\z" 5 x-inte{cep‘f‘s:;lndy—intercept Lt
\G,X-tn é —-1h
cy’é (-4.58,0) (o l%)
@, (.41, 0) )

7. |You get this: Fill in this:
Either form of the equation other than
y = —2x2 + 14x + 60 standard form.

g = -2 (XE-1x~-30)
Fa.c\’of{,& é = - C X~ \D‘ch +3> Vertex of the parabola
o & — T
dq 4 ( 2 3
4= (-axZiHx-3)HeOoE
()67"7044' “'|qq> d—L‘;—q x-intercepts and y-intercept
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